Topic:- General Hindi

1) 9 # feaet uRyia fear war g2

«zqy fordl 3, a1, g, Feraq, dieifad 3nfe & o ) fowr 9 wega fFar s 217
1. SARAT

2. sy

3. Yrare

4, Ueeta

Correct Answer :-

2) <3+ Yg Bt figs 999 59 geray &1 agt 3rd garail?
1. Ta 30T YR HRAT|

2. Y 3G F=ET BT

3. GIRI 1 IR AT

4, QIRI DI YR BT

Correct Answer :-

o Y U TR HAT



4, 3fSTY

Correct Answer :-

4) Igel FRIFSAT Uga=AT 39 YeTar &1 Igt 3rdf Farsit?
1. 3G B! S1d oGl Y S oA+ |

2. G DI &1l UMY & &1 o7 |

3. 3 D1 &1 g A SH o1

4, B DI 910 X I S &1

Correct Answer :-

« WD AR Y S A

5) F D! I FAD I° T I P Y5 U FT 2
1. 3T 3® T fora|

2. I 3 T fer |

3. 39 o® TRIT fordl |

4. I 3T YT ferg |

Correct Answer :-

o 39 3 T fera |

6) ‘ST WAl PTG &t ° IR BT [ =T T g2
1, 3 Y & T e
2. 39 Ay & 99 fer|
3. I Ay H1 I ferg
4, 3G AW B I A

Correct Answer :-

. I AN B G Wl

7) U Tgd 3T ATl B 1° TR BT Yk & T GRI?
1. G3I &% TR A< 3T 8

2. B 9gd 3fF< a1 ]



3. g3 9gd o< 3 B
4, T3 9gd 3= 3T 8|
Correct Answer :-

. U3 9gd S TR

8) «Ieiter BT fId Ueg BT ATR:
1. Afq®

2. Tl

3. QA

4, Xt

Correct Answer :-

9) 'Hifgar Hiwiar ufer $8l A UHRId gidl 82
1, YaT|
2. 4t

3. Higdl
4, I

Correct Answer :-

10) 7 ST | §1 e HIF AT B?
1. fRI®R
2. &R

3. fAesf
4. 9=

Correct Answer :-

11) IiiPIT Hifasr aRyfe 3 fra & o Siarsmare?

1. URMA



2. fagm=
3. Rren
4, 91fOSg

Correct Answer :-

12) Fafafeg dfeaal o o9 9 sraerR 82
AT SMTad SEHR, FRAT T (IR,
To-Fd g4 g, wifes g9t AR

1. SRR iR

2. G SedR

3. IR STDBR

4. IepIfaa SABR

Correct Answer :-

13) Fufif@a iRl A P AT o< 82

oft I A FUTE HSTHA, TI0T U HY GIH0M |
TIPS A Dol & B, Dl UG H-olS UM ||
el r1fdra Siftre ofd 74, e -TRe gazu |
uedid H1g disd & g, S ST garaed ||
1. gRefifdeT &g

2, FEATA B4

3. AT &G

4, TiifdeT Ba

Correct Answer :-

. ghfifddr o<

14) frgfafaa dfeaal & #1991 o< 82
¥ 1 8w faw afsr, i wa wnfa = g
HTed Hd & B P, 3R T B T 311




1. gRATRT &
2. 3T B¢
3. AT HG

4, MifciepT 4

Correct Answer :-

o« IR B<

15) FrafafeEa dfdml § At srieR &1 A Farsi:
BT ER |R?

adh Hghel

T IR BT B g2

1. JfAREAHT SEABR

2. G ScidR

3. 31T 3P

4, FepITa SABR

Correct Answer :-

~

.« TDIad ABR

16) SeP 3R “Siee BT & Y B

1. A 3R TP

2. B 3R FIed

3. BT MR Tl
4. STATg 3 3R FTed

Correct Answer :-

. B 3R T

17) TYRYT AR A HYT aTRT S131T:
“HIG P Tt TS 17

1. $HE AT gl Tl T3 |

2. TS PG R I TS |

3. UG 37T 3R Al To |



4. $Yq Il T8 3R AR
Correct Answer :-

. TG 3% AR Tl T3 |

18) “THF’ P YA Mg FIT SN2
1. 3ffa

2. JHIT

3. ghd
4, gag

Correct Answer :-

19) AEREIH’ UADT BT A UHTRIT Fheft B2
1. HIITe

2. it

3, DIau!

4, R

Correct Answer :-

20) T URUTRIS eg 6w &=  dter wiraT 22
1. TRIRH

2. o=

3. fRran

4, IOy

Correct Answer :-

. e

21) AP R TGP BT AT A 7:
1. T BT YIS 3R YY
2. T PT AYTS 3R Y8 PI gal



3. Uh BT AIYTS 3R TG BT fbRT
4. & 1 AITE 3R Yo6

Correct Answer :-

. TH HI AU 3R Yag HI gal

22) HEAYOP Hd THA ST TG 11T 1P
1. 1 30 =rsal | BT fobar S |

2. 31 3t & B fomar S|

3. 1 G¥RI & Wsal H gl fobar o |

4, 91 9gq Ysal 1 g1 fopar S |

Correct Answer :-

« 9l 30 Xsal | gl b1 S |

23) “GUED BT UGG g T G2
1. JHRG
2. 3fTRae
3. (g
4, AT

Correct Answer :-

24) AP P! TSI el H FATHEA 82
1. 3fHRA g

2. S Sl

3. S R

4, STSTS T

Correct Answer :-

. SAPRAR

25) 3M°T Bl WIS dielt § T HEd a2
1. o Mo R e &)



2. forgeT O WRI 8l
3. N1 Uc ger1 8l
4, ST HIoH ¥ 3P &1

Correct Answer :-

. TEBTUC WRIE

26) G- g BT -1 qaAT3M
1. fadm gm

2. Gl g

3. e g

4, A g

Correct Answer :-

27) &) TR T TGN B3

AePAgA__ BITMTE

1. 9gq &9

2. 3G & AT

3. 99 HEM

4, S GRAA

Correct Answer :-

. 3{F & gRAT

28) JAYUTH TR A @I I8¢
1. TRIIAT 3R HHTGAT

2. ARARIAT 3R YA G

3, IRIRT 3R Iua/dl

4. TTHIT 3R YaeTegdl

Correct Answer :-

. TRITAT 3R Racega



29) Ty 919 BT AYRT a1 | FGa:

St e 421 o forg w freen @, €t W 4= e g €|
1. G & forg TR e arer safad e o=1 yad gidi g |

2. 321 & fou TR fiye arer e W= S Yo BT |

3. O%1 & for TR fiyen ara safad et o=1 Hod gidl g |

4. SR & Torg 1R e a1d o = o1 Yo gl g

Correct Answer :-

. S S foru IR fiyeq a1 sufed g=ar Sw1 Had giaT 3

30) g BT T Y B:
1. STGIQ, 91, 9eT

2. BT, T, ST gUTST
3. S1Gd, O, feaRT gan
4. e, O, 3T gieT

Correct Answer :-
. STEd, T, IS g
31) YT IR B WA 1T | ggal:
«3JfafY 3T 3R HriHH = gail”
1. S g 3MfafY S wrfehd YRE ga|
2. 3 & 3MTd &1 PRIHH U= g3l
3. 3 & 3T b HTY BT HRIHH L= gl
4. 1 SfAfY R HRIHH L= gorl

Correct Answer :-

. S & 31T B PRIHH = gl

32) N B U arar H i A1 TN 82
1. PHYRY U

2. fgT oo

3. Jgsiife TaN

4, TGXY TAN



Correct Answer :-
o dUPY YHNY
33) TEl fawey gA:

g IS SSTH B5 ¢ 1 39% fauH =TRoi # 15-15 3R TH TRON § 13-13 AETE g1t &, g 9
WU A FaT e .

1. BRATIfhT Ba
2. Sl B4
3. Al Ba

4, Tifdep1 g

Correct Answer :-
. I TG
34) TEl fawey gA:
-1 Tf-afa Y-y, ary-ary 8 vgd
TY-TS TEDR §1Y-3(d, Hed
1. g1 Bg
2. I BG
3. A Ba
4, TiifdeT Ba

Correct Answer :-

. Tifder e

35) '\‘I’E»pfﬁm ﬁ-’-ﬁ:

9% IAN Forrd IR U WUt 81 adT 7d g SR SR Ug § SUATH-SUHY 3fyaT favivur-fazisy
&1 T gl T8 FEAI G|

1. PHYRY T
2. 3{TY! HId FHYE
3. fgroamw

4, IJ>Y gHY
Correct Answer :-

. HHYRY JHY



36) el fawey giu:

NI TN FISRUGTUF B R WU MU g3 Fad gl
1. HUYRY TAN

2. 3Tl HId T

3. fgr oo

4, TGS TANT

Correct Answer :-

37) W&t fawey gansi

UTOT TR eafvi-ida &

1. TS 3O MO ot T § Webd! bl RN el 7
2. TS 3 3l & UeTadl ¥ Tdbdll o1 SR Bl ¢

3. A 3O ATl Pt TeTadT ¥ Habd! &l SR Hal g |
4. TSI S0 Ul BT GETIdl § Hebdll Pl SR Hal 5

Correct Answer :-

o AT O AT T Tl o Wbl T SR BT ¢ |

38) gl fAwey Iarsit:

?ﬁ%ﬁwmwmmaﬁvﬁ@awﬁmmﬁﬁﬁ@ FEd
|

1. GTETEE T &
2. 3 Yeg Wi
3. ST Yeg NfeRT
4. EUN g Al

Correct Answer :-

o 3T Ueg Afaaq

39) gl faswey Idrsi:
UTYT gTefese Udbd g1’ Tefd® | dreqd @



1. TTd ST PR TS T8
2, ST I Sl TS

3. 3fasd

4. Ufdp

Correct Answer :-

40) gl faeey Tamsi:

HTT Hharers & a9 W) wafat S=iva gt € a:
1. GIT HohdTaTas T ST BIal g |

2. AT HhdIdD a1 Y& gid ol

3. @l YohdTed AT Ul IhTaTd g G|

4. AT AT IT Wit Bic g |

Correct Answer :-

. T GhdIHD T UdihIHD gidl o

41) el fawey garait:
¥ fafRre aref o5t et & area & welifa gl 81
1. BIUTEYE T 9
2. ST 2eg VAR
3. TI&IUT eg TfR
4, ST Reg; Tl

Correct Answer :-
« TIEOT eq; IfeRT

42) g fawey Famait:

_ Yomgif ey gl

1. SIfeT Yeg Rl

2. BRI

3. TI&IUT eg; Af

4. ST Xeg; TfekT



Correct Answer :-
« ST g Wlad

43) gl fawe gars:

Aoha W sARd s @l g, R
1. ST SO &1l velt

2. Sl 9gd Sl gl §

3. Sl ST 9§ §1d DRl

4. Sl STHHM TH STt

Correct Answer :-

o Sl 3TYHAM T 910 Hal

44) T SR e P13 Farait:

1. AT ST 3R &Y

2. T o1 3R Hafal

3. A 31R &
4. A Se 3R Hafar

Correct Answer :-
. AMa 3R A&
45) HERP o1 I fodg w7 82
1. 3
2. FAEHEY
3. Ir€+§"\f[
4, G

Correct Answer :-

. TEHEW

46) TS 3R HIor BT 31 Faran:
1. BT 3R A

2. HUA 3R AT




3. B9 3R ATG

4, BTHCT 3R A4

Correct Answer :-

. ®THST R AT

47) Fau RIS eg fHa &= & aiem rar 82
1. YR

2. oz

3. fRuafm

4, qIfOrSY

Correct Answer :-

48) BAl-Hdr G BT A9 Farai:
1. faam gm

2. GT%ad g
3. O-FRY® g

4, QO g

Correct Answer :-

49) 3N UR B! A I U SR TR faT 71T U= F71 IR <

fUarsht ot gerur
TS &1 i Wt T8l =
st 3raft oft drs e,
<t el oft feafaemy
oMa & At A fFadb
W F M 7 f9d
9 | gTgd TR |

PTH  Sig wedT |



UY: 39 B § fUar off &1 s-a19 I faRudg SR o= I+ 3/ 82
1. $9 HroafRr § fudr ot &1 forafeedt, Wi, TeTgsl, u1 e S WIHTa IHR &) 9 3l |

2. 39 ST F U St & foraraet, Tpid, SgTgel (YT [uTa, HF erdT 9T FHevdT o THTd
JHR HR A S B

3. s;;e%@mﬁﬁmsﬁaﬁmﬁ?ﬂﬁﬁawﬂa,ﬁnﬂwawﬁmé@wwﬁt{waﬁw
|
4, 39 B H far ot &) v Ty, w1 <iadr aur Rear o WIHE IR &R JiE- 3 g |

Correct Answer :-

. SO B ¥ fOar st &t fSarfeed, Tl Tergdt o T, e =fierar qur fFevar S8 wuE
IR B I 31 B

50) 3 U B! YA A U R T foT ¢ u=E= &1 Iqar

fUareit oA & g
TS &7 bl 3 <TET =TT
<t et oft g =T,
<t et oft Ryafaamy
Hid & mY 7 feud
TR & 3R A foad

a1 H ST TRordT |
PHTH ¥ SiET aedl |

UY: “Hid & AR A fgad’ & WIeaH | S FT He-T a1l 82

1. B3 B ATear § 5 aF srcid wreelt ¥ 9% o o v TR R
2. Hid el ATedl ¢ fob al Sfcdd TTeHt & 3¢ g ol ot v eI ]l
3. g B dredl 8 [ aT 3rcdd el 8 S gg &1 Hu B

4, BT B TG © 1o a1 3Ad BRR ¢ 3¢ GG BT WA

Correct Answer :-

. ®fd HeT el ¢ [F Ot ercdd T § 3% g &1 ¥ Ha T B

51) CANCELLED

W’wwgrzf%:



1. BT, Gah! & G, SR

2. HICT, ¢de! & G, &l Al pT el
3, DI, GIh! & G, o

4, DI, Gabt &b G, THHAT

Correct Answer :-

« I, GaP! b I, §_A

52) Tgl faweq Tarsi:

I 3T T ¢ 7 forelt A D9 & S e @, o I |
1. It T 8 S

2. At TI-GHH §8 ST

3, Jaci-Hidl 7T a8 Wl

4, i<} 777 918 STU

Correct Answer :-

. 3t T &8 S|

2. HIG-[aEIRT, HIG-Uccia-

3. HTA-[ART, HIa-Uead

4, H9-fTIRUI, HI9-Ucea

Correct Answer :-

o YHI9-faEARI, HIG-Ueera

54) ATYRYI T B Y a1 & deal:
«FqTaeial ATt FeT &I e § 17

1. Sl TS WAl B o, d Tl g&T 8 & |
2, Waes! e el gl €1 Ed B

3. WA JeT i Gt 3ga B

4, o Tl el T 38 B




Correct Answer :-

. S o Waae! B §, 3 gl gl 38d B

55) 4 aTeaizr & fore U 2reg Tarait:
T & FHIY 3§+ a1 BEI”

1, Siqeadt

2. 3t

3. 3f=qardl

4, 3f=cfardt

Correct Answer :-

56) =9 areRIT<T & fQIT U Rreq aTait:
“TTHTET @d P qrat|”

1. 3ol

2. A

3. 3ot

4, 3TTT

Correct Answer :-

57) 39 UL &) 4O A U 3R i faw ¢ u=E &1 3qaR

fUaTsit =S gem
TH &7 o1 oft T s
st onaft oft s =g,
<t anaft oft fyefEamy
Hia & amt 7 Rud
R & AT A s
§Ie # STee TRorT |

T ¥ Sisi gl |



UY: ‘BT A S aReiar I $f &1 41 a5y 82
1. B BT Ay 8 5 9 &R ua G A @A B

2. BfA BT A0 ¢ [ dl R PR Gl A BR A B 1

3. 1d BT a1 & fob A1 5 BT Pl & g1 Rl g |

4 BRA BT AT ¢ F AR HRIT R AA G

Correct Answer :-

. FAFAEd s P ARIAGH I IR Ad G|
58) Og! fapeu garen:

(&I B T, THH, ATAT VT 94T -1 A T falRw Fawi 9 Faive werear .
Hoar gl

1.9
2. {ABR
3. B -0

4. 39

Correct Answer :-

59) W&l fawey gH:

_ TS U1 7 ST T R
1. 3%

2. BRI

3. IR

4, dR ¥

Correct Answer :-

60) Wﬁﬁqﬂﬁﬂ{
Tifgcd A Ul =Y 31 § Sif ¥ 39 AT ST 21
13539



2. QI ]
3. R
4, dR 9

Correct Answer :-

o XY

61) gl faped gH:
PRI HIE €, Arar-Rar o1 erum e wR Afie wEl
1. AT X4

2. BT ™

3. IR

4, 4R

Correct Answer :-
o AT
62) oy farfaa Ul A P AT T 82

"Hed B 319 {1 99 U 1 37|
ITEY 9 T I Ped HUd By RRAR|

1. e
2. TMd
3. Yida ™
4. AR IF

Correct Answer :-
o YA
63) forg ferfad Uil  dT AT 82

Tad oY STgHfa @ urd |
3P Y T R+ 3, St 3 fearar

1. 3% ™
2. IO A
3. RNd ™
4, 4R



Correct Answer :-

o dIHcRY

64) SH TR B! WM ¥ TS 3R 1< 3T T vz 1 IR &

W IR # W AfKTSF T a9 giaT 31 39 T A9 &) AR =0 F 3R IR *u d
ST €1 TR A W BT 1T | TR APl 8t T8 TS S o <ot & | TS 9t S A
S @ISl B o9 3l 81 SHPT 3R} $ad AfR [T IR g 781 av= JHTeT, 39, Siifa, 99 W A
U A USdl § 3R 39F R ags &1 guiaar ot Ryt &t el s gh | @R 'wwRTe
T el BT AN HRPb 75 [ABT UG DI S7H T B

TY: TR TiETss & g & g4 smawa® 32

1, TR g % oY o TRR ST SH1a=as 3 |

2. TR AR & 1T T YRR BT SIS ¢
3. TR AR o Tl TR IRR §HT SAITRID 5|
4, TR AR & [T SRaR TRR BT HTIRID 5 |

Correct Answer :-

. O AT & o0 W IRK BT TP B
65) 3 e P! S 9§ U 3R - 3T 7T U=+ #1IaR &

W WK # W fRTsF $T a9 gial &1 39% o a9® &1 UFRie U 9 3R IR Tu 3
ST € TR ¥ WX BT A1RT | TR AT 8 TS TS P oH ot 8 1 A8 Dt s I
S Wiell B 7 el 31 SIDT SRR Had Afad AT W g 781 a_ THIS, ST, SIfd, I9 W JHH
U Usdl ¢ 3R 39P e ager &1 yuiaar st foarurT & fawRa &34r g1 R wWwRTe
TG (edl BT R HRP 715 (AP TSI B S7H ST I

T9: ST TN $T Shad Riv® faf@u|
1. TR HFARID T

2. WY AR

3. W AT

4, 3T HHRTbT

Correct Answer :-

o O AHERIG

66) S T DI 9 I U 3R - feT T yz1 1 3R



W IRR | W ARKTSH BT 9N gl 3| $9 (¢ I 1 AHR U § R IRRe wu d
T € UPR A W T AT | A HHARIST 81 a8 U BI o+ 3ol 7 1 T & Y 1"
8 Wioil ®) 7T el B 1 STHT SRR Had AfRT [T IR g1 T8l 9 GHI, S, |, 9 W J9=
Y I ISl g 3R 39 fore w1y 1 qolaar st faamurT &1 fawRa &A1 gl R iwwRTe
TG el BT @R B 3 (BT UGHd B o7 ST g

uY: I R w3 &1 faav wreg forfe:
1. 3G 3R RIS

2. 3G 3R e

3. IS 3R AR

4. Tag1g iR srass

Correct Answer :-

. 3G AR T

67) 3 L P 49 T U¢ o R R M w9 F13wR &

WX IR H W AIETsH $T 9 a1 81 9P U 99 St ARG U F 3R IRRE 0 |
S B TPR A W BT AT TR AFRIST 8 T8 THTS DI oFH 3ol 81 A DI I A
IS Tioll B o9 3l 21 TAPT SRR Pad AR 9= W gl 78] == JHIS, 30, SIfd, I9 TR FHH
U TSl 2 3R 5P QA7 &) yuiaan ot ferRuRT @1 fefia BT i R WuRTd
TG (edl BT R HRP 75 (AP UG B 51 ST S|

T: ST T BT IRIN Q|

1, W] AFRIG T SRS THIS, 78 Ui 1 S & | SHBT THTT Ao & TTY-T1 THIS, S 3R Sifa
R USd 7| 39 U afaa o1 e BT URAN B Ul YHRIAD UId & [AHRI BT AT

2. TR AFIRIG AT T8 AT, 718 i b1 O & | SHhT UHTT ok o JT-T1Y JHIS, ST 3R U=
R USdl ¢ | 39 foIU STfad &1 Tl BT TR HR Ut THRIAS TId Bl {9 Rid H1 Aiey|

3, TR ARSI T8 GHIS, 78 Gig B oI -1 8 | SHBT UHTd Sl & T1Y-1Y AT, T 3R Sifay
RIS 31 39 oY Safad o1 el 1 TR R Ut GHRIAD UId Bl [dpRid ST AMey|

4, W GG AT a3 THIS, UTEH W B ST 6 | $9T THIT Sfad o 1 -1 1o, o2 3R
I R USdr 31 59 o sufad o1 Tfedl o TRERT 6 30 YHRIAS T B ¢ BT Ny

Correct Answer :-

« WO AFRIS I W3 TS, T3 A1 B ol § | SHBT YHTT fad & A1Y-T1Y JHIS, S 3R Wi
R Usdl &1 39 AU safad &) =il &1 URANT B Ul GH RIS HId ! [ADRId BT AT

68) 3 T P! T 9§ U 3R 1 3T ¢ U=+ #7133 &

W TRR H WY AETSF T I §ia1 1 39 (¢ T it AFRSG FU I 3R ARG 7 d
ST € TR W W BT AIRT | W ARGl 8 T8 TS B o7 el 81 I 9t [ i



S Gl ®I &9 ¢dl g | SUPT 3R Hdd Afad (A=Y U g1 gl a3 THISl, ¢, Sifd, 99 U JHE
U q Ugal § 3R 39% g agsy &1 yofaar s fearum &Y fasfa &= g R iRt
UG Ul BT N HIP 5 [P Yo B 57 ST 8|

TY: TR TR A et any g @2
1. T TRKTSH TSI g g

2. TR RTH T I Il ¢ |

3. W AR BT I Bial ¢

4. 3R] AR PT I STl B

Correct Answer :-

. T GRTH BT I I 7

69) $H UF B YA 4 U¢ 3R 1 fag ¢ v 71 Iqaw &:
fUaTsit oA @ g

TS &7 i 3 <TET =ra

<t onaft oft s =g,

ot et oft ReaRaame

Hid & omY 7 feud

TR & M A foad

§ia § S1gd TR |

ST H SIS wReIdT |

wy: O Sft &5t aelt 3t Far fodiwar g2
1. e St 1 slicl! STad ot Foi o g |
2. Toar St &1 et STed 3 doiT oY B
3. U St 1 Slclt aTee B o1 oY & |
4. T SR 1 Sttt AR BT TS O B

Correct Answer :-

. O Sit & Sich STed B o o g

70) S e &) 49 T Ue i 7 R M = #1333 ¢



fUarsit =& e
TS &f07 i it =78t
sit et oft s e,
wit enaft oft fEafeamy
Hid & 3wt 7 fFud
R F 3T 7 s
a1 # STee TR |

PTH | S o |

TY: 39 ST &1 v fafam)
1. foar sit

2. AFITSI

3. et

4. gl

Correct Answer :-

. foarsit

Topic:- General English

1) Choose the appropriate preposition for the given sentence:

The discounted priceis 24 hours only.
1. in

2. for

3. from

4, during

Correct Answer :-

« for

2) Choose the appropriate preposition for the given sentence:

The sale will last 7 days only.

1.in



2. for
3.0n

4, during

Correct Answer :-
» for

3) Choose the appropriate preposition for the given sentence:

Thereis a heavy demand ______ these goods.
1.on

2.in

3. for

4, between

Correct Answer :-
e for

4) Choose the appropriate prepositions for the given sentence:

Thecatjumped ___ theroom _____ the window and drank the milk.
1. at, by

2. into, through

3. from, across

4. in, to

Correct Answer :-

e into, through

5) Choose the appropriate articles for the given sentence:

Baskets made by Naga women of Imphal are beautiful and sold allover ___ world.
1. a, the

2. the, the

3. an, the

4. an, a



Correct Answer :-

e the, the

6) Choose the appropriate articles for the given sentence:

Keeping __ petcanincrease ______ person's emotional well-being.
1. the, a

2.a,a

3. the, the

4. 3,an

Correct Answer :-

7) Choose the appropriate articles for the given sentence:

You need to make ______ conscious effort to move away from _______ past.
1. a, the

2. an, an

3. the, the

4. an, a

Correct Answer :-

8) Choose the correct form of verb for the given sentence:

People who have very little technical background have to understand the Cobol computer
language.

1. learns
2. learned
3. learn

4, learning

Correct Answer :-

e learned



9) Choose the correct form of verb for the given sentence:

She said that she ___ the opportunity to show that she could play a serious film role.
1. greeted

2. welcomed

3. cheered

4, rejoiced

Correct Answer :-
e welcomed

10) Choose the correct form of modal auxiliary verb for the given sentence:

We've finished our work for today. __ we leave now?
1. Must

2. May

3. Needn’t

4, Should

Correct Answer :-

11) Choose the correct form of adverb for the given sentence:

Iseethings____ now.
1. greatly

2. difficultly

3. differently

4. uniquely

Correct Answer :-

« differently

12) Choose the correct form of adverb for the given sentence:

The flower arrangements at the party had been done most

1. dramatically



2. demandingly
3. decently

4, beautifully

Correct Answer :-
« beautifully

13) Choose the correct form of adjective for the given sentence:

Ranjan would like to go to unexplored places; heisavery _____ person.
1, sickly

2. able

3. powerful

4, adventurous

Correct Answer :-
e adventurous

14) Choose the correct form of adjective for the given sentence:

Hedieda___ death
1. magnificent

2. glorious

3. superficial

4, great

Correct Answer :-
« glorious

15) Choose the correct form of expression to complete the sentence:

These windows are made of
1. glass

2. panes

3. panes of glass

4, glasses



Correct Answer :-

16) Choose the correct form of expression to complete the sentence:

His success has been beyond my
1. inclination

2. estimation

3. anticipation

4, expectation

Correct Answer :-
e expectation

17) Choose the correct form of tense for the given sentence:

Thisbook ___ to her.
1. has belonged

2. belongs

3. is belonging

4, belong

Correct Answer :-
¢ belongs

18) Choose the correct form of tense for the given sentence:

The butcher cut his hand whilehe ___ meat.
1. chops

2. had been chopping

3. was chopping

4, has chopped

Correct Answer :-

» was chopping



19) Choose the correct form of tense for the given sentence:
Can | have a drink before | to bed?

1. go

2. will have gone

3. will go

4. am going

Correct Answer :-

20) Choose the most suitable determiner for the given sentence:

The police are looking for _____ evidence to prosecute him.
1. little

2. more

3. no

4, much

Correct Answer :-

21) Choose the most suitable determiner for the given sentence:

people are never happy whatever you do for them.
1. All
2. Some
3. Every

4, Each

Correct Answer :-

22) Choose the best sentence starter from the given options:

He failed in his attempt. It was unfortunate.

1. Although



2. Unfortunately
3. Due to

4, Fortunately

Correct Answer :-

« Unfortunately

23) Read the passage carefully and answer the question given below:

What's more exciting than having a fresh hot pizza delivered to your door? How about having it brought
to you by a robot? Thanks to Domino’s Robotic Unit or DRU, that just became a reality! On March 8§, the
three-foot tall robot delivered its first pizza to some lucky residents in Brisbane, Australia.

The fully autonomous DRU is the result of collaboration between Domino's Pizza Australia and Sydney-
based startup Marathon Robotics. The 450-pound machine that travels at a maximum speed of 12.4 miles
an hour can traverse a distance of up to 12-miles and back, before requiring a battery recharge. LIDAR, a
laser-based sensor technology similar to the one used in self-driving cars, enables DRU to detect and avoid
obstacles, while traditional sensors, much like those used in vacuum robots ensure its path is safe as it
heads to its destination.

DRU's weather and waterproof acrylic plastic exterior protects the food from the elements while its
aluminum and steel interior ensures that the pies remain piping hot! The robot can fit up to ten pizzas and
even has a separate cold area to accommodate drink orders.

Equipped with both Google Maps and GPS-guidance DRU can navigate bike paths and sidewalks and also
find the most efficient way to its destination. Since the robot does not have to contend with road traffic, it
could potentially make deliveries a lot quicker than humans. To access their food, customers have to enter
the unique code provided to them by the company. This not only ensures that they pick up the right pizza,
but also prevents the pies from getting stolen en route.

Though Domino's has so far built just a single prototype, they expect additional DRU's to be ready for
service in their various Queensland locations within the next six months. But don't expect these super cute
robots to replace humans anytime soon. According to Domino's the DRU still needs extensive testing,
which the company believes could take up to two years.

And then there is also the issue of regulations. The public use of autonomous vehicles is still banned in
most countries. But Don Meij, the CEO and Managing Director of Domino’s Pizza Australia New Zealand
Ltd, is not worried. He is "confident that one day [DRU] will become an integral part of the Domino’s
family.” We for one cannot wait

Question: The meaning of the underlined word ‘prototype’ in the fifth paragraph is:
p

1. Redesigned machinery



2. Specimen copies
3. Working model

4. Experimental design

Correct Answer :-

« Working model

24) Read the passage carefully and answer the question given below:

What's more exciting than having a fresh hot pizza delivered to your door? How about having it brought
to you by a robot? Thanks to Domino’s Robotic Unit or DRU, that just became a reality! On March 8§, the
three-foot tall robot delivered its first pizza to some lucky residents in Brisbane, Australia.

The fully autonomous DRU is the result of collaboration between Domino's Pizza Australia and Sydney-
based startup Marathon Robotics. The 450-pound machine that travels at a maximum speed of 12.4 miles
an hour can traverse a distance of up to 12-miles and back, before requiring a battery recharge. LIDAR, a
laser-based sensor technology similar to the one used in self-driving cars, enables DRU to detect and avoid
obstacles, while traditional sensors, much like those used in vacuum robots ensure its path is safe as it
heads to its destination.

DRU's weather and waterproof acrylic plastic exterior protects the food from the elements while its
aluminum and steel interior ensures that the pies remain piping hot! The robot can fit up to ten pizzas and
even has a separate cold area to accommodate drink orders.

Equipped with both Google Maps and GPS-guidance DRU can navigate bike paths and sidewalks and also
find the most efficient way to its destination. Since the robot does not have to contend with road traffic, it
could potentially make deliveries a lot quicker than humans. To access their food, customers have to enter
the unique code provided to them by the company. This not only ensures that they pick up the right pizza,
but also prevents the pies from getting stolen en route.

Though Domino's has so far built just a single prototype, they expect additional DRU's to be ready for
service in their various Queensland locations within the next six months. But don't expect these super cute
robots to replace humans anytime soon. According to Domino's the DRU still needs extensive testing,
which the company believes could take up to two years.

And then there is also the issue of regulations. The public use of autonomous vehicles is still banned in
most countries. But Don Meij, the CEO and Managing Director of Domino’s Pizza Australia New Zealand
Ltd, is not worried. He is "confident that one day [DRU] will become an integral part of the Domino’s
family.” We for one cannot wait!

Question: Which of the following statement is true about the passage?

1. Soon these super cute robots would replace delivery boys within a year.



2. Customers need the company’s special code if they want to access their food.
3. The DRU can carry only pies that remain piping hot.

4., The robot delivered its first pizza to some lucky residents in Queensland and New Zealand.

Correct Answer :-

« Customers need the company’s special code if they want to access their food.

25) Read the passage carefully and answer the question given below:

What's more exciting than having a fresh hot pizza delivered to your door? How about having it brought
to you by a robot? Thanks to Domino’s Robotic Unit or DRU, that just became a reality! On March 8§, the
three-foot tall robot delivered its first pizza to some lucky residents in Brisbane, Australia.

The fully autonomous DRU is the result of collaboration between Domino's Pizza Australia and Sydney-
based startup Marathon Robotics. The 450-pound machine that travels at a maximum speed of 12.4 miles
an hour can traverse a distance of up to 12-miles and back, before requiring a battery recharge. LIDAR, a
laser-based sensor technology similar to the one used in self-driving cars, enables DRU to detect and avoid
obstacles, while traditional sensors, much like those used in vacuum robots ensure its path is safe as it
heads to its destination.

DRU's weather and waterproof acrylic plastic exterior protects the food from the elements while its
aluminum and steel interior ensures that the pies remain piping hot! The robot can fit up to ten pizzas and
even has a separate cold area to accommodate drink orders.

Equipped with both Google Maps and GPS-guidance DRU can navigate bike paths and sidewalks and also
find the most efficient way to its destination. Since the robot does not have to contend with road traffic, it
could potentially make deliveries a lot quicker than humans. To access their food, customers have to enter
the unique code provided to them by the company. This not only ensures that they pick up the right pizza,
but also prevents the pies from getting stolen en route.

Though Domino's has so far built just a single prototype, they expect additional DRU's to be ready for
service in their various Queensland locations within the next six months. But don't expect these super cute
robots to replace humans anytime soon. According to Domino's the DRU still needs extensive testing,
which the company believes could take up to two years.

And then there is also the issue of regulations. The public use of autonomous vehicles is still banned in
most countries. But Don Meij, the CEO and Managing Director of Domino’s Pizza Australia New Zealand
Ltd, is not worried. He is "confident that one day [DRU] will become an integral part of the Domino’s
family.” We for one cannot wait!

Question: Which one of the features is NOT what the DRU has?

1. It is equipped with Google Maps and GPS-guidance systems



2. It is weather and waterproof body
3. The robot is able to detect and avoid obstacles using latest sensors

4, It can travel 12-miles and back, before running the risk of a battery recharge

Correct Answer :-

+ The robot is able to detect and avoid obstacles using latest sensors

26) Read the passage carefully and answer the question given below:

What's more exciting than having a fresh hot pizza delivered to your door? How about having it brought
to you by a robot? Thanks to Domino’s Robotic Unit or DRU, that just became a reality! On March 8§, the
three-foot tall robot delivered its first pizza to some lucky residents in Brisbane, Australia.

The fully autonomous DRU is the result of collaboration between Domino's Pizza Australia and Sydney-
based startup Marathon Robotics. The 450-pound machine that travels at a maximum speed of 12.4 miles
an hour can traverse a distance of up to 12-miles and back, before requiring a battery recharge. LIDAR, a
laser-based sensor technology similar to the one used in self-driving cars, enables DRU to detect and avoid
obstacles, while traditional sensors, much like those used in vacuum robots ensure its path is safe as it
heads to its destination.

DRU's weather and waterproof acrylic plastic exterior protects the food from the elements while its
aluminum and steel interior ensures that the pies remain piping hot! The robot can fit up to ten pizzas and
even has a separate cold area to accommodate drink orders.

Equipped with both Google Maps and GPS-guidance DRU can navigate bike paths and sidewalks and also
find the most efficient way to its destination. Since the robot does not have to contend with road traffic, it
could potentially make deliveries a lot quicker than humans. To access their food, customers have to enter
the unique code provided to them by the company. This not only ensures that they pick up the right pizza,
but also prevents the pies from getting stolen en route.

Though Domino's has so far built just a single prototype, they expect additional DRU's to be ready for
service in their various Queensland locations within the next six months. But don't expect these super cute
robots to replace humans anytime soon. According to Domino's the DRU still needs extensive testing,
which the company believes could take up to two years.

And then there is also the issue of regulations. The public use of autonomous vehicles is still banned in
most countries. But Don Meij, the CEO and Managing Director of Domino’s Pizza Australia New Zealand
Ltd, is not worried. He is "confident that one day [DRU] will become an integral part of the Domino’s
family.” We for one cannot wait!

Question: The last line of the passage, ‘We for one cannot wait!’ implies:
p P

1. We cannot be kept waiting for more such robots!



2. We are not the ones to wait for such inventions!
3. We are impatient and can’t wait for any more of them!

4, Everyone is eagerly waiting to be served by these robots!

Correct Answer :-

« Everyone is eagerly waiting to be served by these robots!

27) Read the passage carefully and answer the question given below:

What's more exciting than having a fresh hot pizza delivered to your door? How about having it brought
to you by a robot? Thanks to Domino’s Robotic Unit or DRU, that just became a reality! On March 8, the
three-foot tall robot delivered its first pizza to some lucky residents in Brisbane, Australia.

The fully autonomous DRU is the result of collaboration between Domino's Pizza Australia and Sydney-
based startup Marathon Robotics. The 450-pound machine that travels at a maximum speed of 12.4 miles
an hour can traverse a distance of up to 12-miles and back, before requiring a battery recharge. LIDAR, a
laser-based sensor technology similar to the one used in self-driving cars, enables DRU to detect and avoid
obstacles, while traditional sensors, much like those used in vacuum robots ensure its path is safe as it
heads to its destination.

DRU's weather and waterproof acrylic plastic exterior protects the food from the elements while its
aluminum and steel interior ensures that the pies remain piping hot! The robot can fit up to ten pizzas and
even has a separate cold area to accommodate drink orders.

Equipped with both Google Maps and GPS-guidance DRU can navigate bike paths and sidewalks and also
find the most efficient way to its destination. Since the robot does not have to contend with road traffic, it
could potentially make deliveries a lot quicker than humans. To access their food, customers have to enter
the unique code provided to them by the company. This not only ensures that they pick up the right pizza,
but also prevents the pies from getting stolen en route.

Though Domino's has so far built just a single prototype, they expect additional DRU's to be ready for
service in their various Queensland locations within the next six months. But don't expect these super cute
robots to replace humans anytime soon. According to Domino's the DRU still needs extensive testing,
which the company believes could take up to two years.

And then there is also the issue of regulations. The public use of autonomous vehicles is still banned in
most countries. But Don Meij, the CEO and Managing Director of Domino’s Pizza Australia New Zealand
Ltd, is not worried. He is "confident that one day [DRU] will become an integral part of the Domino’s
family.” We for one cannot wait!



Question: The passage could be grouped under the genre:
1. Transport

2. Innovators

3. Food

4, Technology

Correct Answer :-
« Technology

28) Choose the correct form of tense for the given sentence:

I can't begin sewing the dress, until my mother it for me.
1. cuts

2. will be cutting

3. cut

4, has cutting

Correct Answer :-

29) Choose the correct form of adverb for the given sentence:

speaking, the curriculum includes all experiences the student may have within the
environment of the school.

1. Contentedly
2. Broadly
3. Superstitiously

4. Narrowly

Correct Answer :-

e Broadly

30) Choose the appropriate articles for the given sentence:

She went to jeweler’'s shop and bought pair of earrings for her daughter.
1. the, a

2.3,a



3. the, the

4, 3, an

Correct Answer :-

e the, a

Topic:- General Knowledge

1) Find the missing term in the given matrix./ fdT §T 31ayg # qw Ug q1d H: |

| I 111

4 8 8
8 i2 | 16
16 8 | 32
8 12 ?

1. 15

2. 20

3.17

4,16

Correct Answer :-

2) If Saturday falls four days after today, then on which day, the day before
yesterday fall?/ afe AR o9 ¥ IR A 918 7, @t ol & & Uga arar {1 «am ur?

1. Tuesday/ HIAdR
2. Sunday/Tﬁ"q"N

3. Friday/ shdR
4. Monday/ IR

Correct Answer :-

« Sunday/ IfdaR

3) Dates of birth of some persons are given below. Find out the date of the
youngest person./ $ df&ial & o1 3t fafy 2 & 73 8 v 9 39 F aufe fafy gra
Gy



a. 12.08.1968
b. 13.09.1968
c. 19.06.1968
d. 20.02.1968

e. 22.03.1968

f. 20.01.1968

g. 20.12.1967
1.b

2. C

3.e

4. g

Correct Answer :-

e b

4) In the following question, select the related letter/word/number from the

%%I:n alternatives./ a1 # foT e faeeul # I TwfRa sieR/Rreg/Hen i
|

Orange : Fruit:: Brinjal:?/ 31 : Bd:: 9T:?
1. Flower / {d

2. Vegetable/ &l

3. Cucumber/ &&dal

4, Potato/ 3],

Correct Answer :-

« Vegetable/ ool

5) In the following question, select the related letter/word/number from the

%ggn alternatives./ F=fRad yza # feu e fawenl & & G 3reR/reg/"@n o1
|

MO :1315::HJ:?
1. 810

2. 1917

3.1618

4, 1816



Correct Answer :-

- 810

6) In the given figure, circles represent students studying three different
subjects. How many students study all the three subjects? /ﬁ'ETI'EGTﬁEﬁ, qdod
T ST 3renT fawa 1 3reaa == aTal BT & gxitdn g | foraq o1 gt i+ faway &1

3T HId 22

1.4
2.2
3.3

4.1

Correct Answer :-

7) DIRECTIONS: Solve the alphanumeric series given below:/ e :ﬂ%é’fﬂé
SERTBIT Yol B g Be:

AOE, C2G, F6I, H12K,?
1. K22M
2. K20M
3. K18M

4, K16M

Correct Answer :-

8) Which of the following is the smallest fraction?/ﬁﬁﬁﬁm@ﬁm?—rﬁﬁ
Tt g2

g 12 7 11
15, 33, 13, 13

11
1. 13



14
4, 33

Correct Answer :-

14
. 33

9) Which figure represents the exact relationship with the variables given in

questions? /PRI THia Uy # AW 7T sragat & iy ddy o) g=ifdl 32

(A)

()

Country, State, City/ 3%, I, 263
1.D

2.B

3.C

4, A

Correct Answer :-

« B

10) Arun runs faster than Elias, but not as fast as Dinesh. Dinesh runs faster
than Chander, but not as fast as Bikram. Who runs fastest?/ 330], Tferary &1

IO H O idT 8, WY G & o 7181 grsan o1 AT, T fop goriT & de disar 8, Rg
faps & A9 71E s B 1 B T A ST 82

1. Chander/d<X
2. Bikram/fssH
3. Dinesh/léalﬁl

4, Arun/31%0]



Correct Answer :-

. Bikram/ﬁw

11) Ratio of present age of Rohit to Mohit is 2:3.Rohit will be 20 years old
after 8 years. Then the present age of Mohit is:/3Afed Gﬁ?ﬁ%ﬁﬁﬂ?ﬁﬁmm
ST HHRT: 2:3 B1 8 9 a1¢ e 20 avf &1 Y e, a) wifgd &t adwr g fra-i 82

1. 18 years/ 18 G
2. 16 years/ 16 a4
3. 24 years/ 24 9§

4. 21 years / 21 G

Correct Answer :-

« 18 years/ 18 Gl

12) The Athakhambe and Chaukhambe of Gyaraspur are the remains of two -

/ TARAR $ ASE AR AEa frad &) a2y g2
1. Universities/ fayfaememt

2. Temples/ TR

3. None of these/ Eﬁ@[ﬁé:@

4. Palaces/ Hgdl

Correct Answer :-

« Temples/ Hfexi

13) Who out of the following is known as the Indian “Robin Hood"?/ fufefaa
YR # F fpd e g8 & T8 A W1 ST 82

1. Tantya Bhil/ d@icr ¥ia
2. Kajar Singh/ ®ToR Rig
3. Bhavani Prasad Mishra/ AT TG s

4, Tana Bhagat/ di@T 4i1d

Correct Answer :-

« Tantya Bhil/ did@r ¥id

14) Ghughva is the main site of — / TgdT PI- A AP A ST TG VA 5?



1. Fossil National Park/GﬁWﬂ@HW

2. Madhav National Park/ HI¢d I1§1g JEM

3. Van Vihar National Park/ﬁﬁ‘ﬁ’l??@qm
4, Satpura National Park/ﬂﬁﬁ@?@ﬁ@ﬂ

Correct Answer :-

- Fossil National Park/ SiarA g1d I&M

15) If CENPNPIL stands for DOOK, what does FHNPNPCE stand for ?/ af¢
CENPNPJL &1 Ydieed @ DOOK, FHNPNPCE 1 Udied 1 82

1. FOUR
2. FOOD
3. ROOT
4. GOOD

Correct Answer :-

« GOOD

16) Which clan of Rajputs did Rudra Pratap Singh belong to?/ ﬁﬁ-'@?‘l\_ﬂ\ﬁ
TE ¥ 3% yary Rig awfia 92

1. Bundelas/dgd
2. Chandelas/d<d

3. Paramaras/ GRHR
4, Chalukyas/dIqd]

Correct Answer :-

. Bundelas/@?f

17) Which was the first country to issue paper currency?/ Wﬂﬁ%ﬁﬁﬂﬂﬁ
TS T RN P37 UT?

1. Japan/ SI4=

2. India/ HRd

3. China/ 99

4. USA/ g T SARDT

Correct Answer :-



. China/Eﬂ:f

18) The folk songs of Barsati Barta is popular in the region of — / SR Sl
o M B D 47 & SR 22

1. Malwa/ HIddl
2. Nimar/ {3418
3. Baghelkhand/ S9eRaus

4. Bundelkhand/ §qad@s

Correct Answer :-
« Malwa/ Hlcdl

19) In a certain code, 15789 is written as AXBTC, 2346 is written as MPDU.
How is 23549 written in that code?/ T fAf¥d $e §, 15789 &I AXBTC forar rar
2, 2346 B MPDU a1 9T 8, 23549 $1 Fe Hd e Sam?

1. None of these/ STH T BIs ol
2. MPXDC
3. MPADC

4. MPXDT

Correct Answer :-

« MPXDC

20) Where is the Shaukat Mahal situated?/ Tid Agd Hgi UG 22
1. Gwalior/ TaTferR

2. Mandu/ HIg

3. Hoshangabad/ ‘@T\’MWI_C{

4, Bhopal/ rare

Correct Answer :-

. Bhopal/ﬂ-ﬁtﬂﬁ
21) If A = 1, FAT = 27, then FAITH =?/“€IﬁA =1, FAT = 27, dI FAITH =?
1. 41

2.40



3.42

4.44

Correct Answer :-

22) Who was the Governor-General of Bengal when the Charter Act of 1813

was passed?/ I1¢T AT 1813 TIT 31 & FHT e & TG-Sl BI U?
1. Warren Hastings/aﬁ_rf%@m

2. Lord Minto I/ @fe fiel uud

3. Lord Cornwallis/@8 ®Ianed

4. Lord Wellesley/ S daxa

Correct Answer :-

« Lord Minto 1/ dls f¥e yug

23) When was Neemuch declared as a separate district?/ <1¥9d & T& T forar
o9 Ui forar war 41?

1. 1996
2. 1997
3.1995
4. 1998

Correct Answer :-

24) When was the first white tiger spotted in Madhya Pradesh?/ £: 173 R orce s |
UYH IR ¢ 919 H ST TIT UT?

1. 1918
2. 1917
3. 1915
4, 1916

Correct Answer :-

« 1915



25) What is the currency of Israel?/ sﬁvmaaﬁaarw%?
1. Togrog/ SR

2. Rial/ feara

3. Israeli Dinar/ 3oRIgd! fgAR

4. New Shekel/ T8 Qa1

Correct Answer :-

« New Shekel/ 75 Jbd

26) What is the maximum number of representatives of the Union Territories

can the Lok Sabha have?/ &I # ¥4 Iy &3 & ufafafirn &t siftean Iwn «n
a2

1. 20
2.15
3.21

4,18

Correct Answer :-

27) What is the latitudinal spread of the state of Madhya Pradesh?/ HeT U=
Y F ST BT IR |1 8?

1.21.2°N - 26.87° N/ 21.2° I - 26.87 ° 3R
2.24.2° N - 29.87° N / 24.2° 3R - 29.87 ° W
3.23.2° N - 28.87 2 N/ 23.2° 3R - 28.87 ° I}
4,22.2° N - 27.87° N/ 22.2° 3R - 27.87 ° I
Correct Answer :-

¢ 21.2° N -26.87°% N/ 21.2° 3R - 26.87 ° IR

28) Alirajpur and Jhabua are the two main centres for woodcraft./
SRR SR FAGM__ SFoIId & ddel F Ry F Fx 82

1. Barihaya/dTRgd

2. Gond/Ms

3. Bhil/Hid



4, Baiga/é’ﬂ

Correct Answer :-

. Bhil/Hia

29) Which Buddhist Council was held at the Saptaparni Cave of Rajgriha?/
ST 1 goauRell T § $i- W dis ufkue &1 st forar mar u1?

1. 4th /g
2, 2" /et
3. 37 /dd
4. 1Y/ ugdlt

Correct Answer :-

30) Which of the following animals are seen in the Bandhavgarh Tiger

Reserve?/ Fiaig 914 SrHIRUY | fFAff@d Sital # | $ - A1 ¢@T ol 95l 52
1. None of the above/ SWRIGd H I cb\li :Ifﬁ

2. Both of the above/ SURIad aHI

3. Sambhar/ JIWR

4. Chital/ <

Correct Answer :-

« Both of the above/mﬁ?ﬁ:ﬁ

31) Which of the following peaks have the highest elevation?/ FufeRad RraRY
# A fraet wat S8 82

1. Gasherbrum/ TRRgH
2. Kanchenjunga/ S-S

3. Godwin Austin/ Tisfa 3iifke

4. Nanga Parvat/ 9 udd

Correct Answer :-

« Godwin Austin/ Tisfa 3fifeed



32) Which of the following fairs is held in the Bhamavad village?/ Fgfaf@a d
Y BI9- 9T AT HHTGTE 779 H Sfriford forar simar g2

1. Fair of Nagaji/?I‘TITrﬁWleﬂ

2. Fair of Tetaji/ ddTel &l Hall

3. Fair of Hira Bhumia/ f&=1 Yf&rm &1 Aa
4, Fair of Pir Budhan/ UR §& &1 &dl

Correct Answer :-

« Fair of Tetaji/ ddTSl &l Bal

33) Which district was Bhopal carved out from in 1972?/ 1972 # Hiure fore
PiH- 9 fora § F9mam ar ur?

1. Sehore/ TgR
2. Hoshangabad/ BTG

3. Betul/ a?ljf
4. Raisen/ 094

Correct Answer :-

. Sehore/ HgR

34) In how many ways can a man and a woman be chosen out of 10 men and
8 women?/ 10 7= 3fR 8 Afgamsii & & te Y=y 3R ts Afed fFaq UeR A A o Tod

82

1.18
2. 80
3.40

4,10

Correct Answer :-

35) Pardhauni is a popular dance-form among the community of - / TR

BiH- A TG BT ABUT TI-7 82
1. Gonds/‘ﬂ'_s'
2. Bhils/ ¥id



3. Saharias/9gRNag
4. Baiga/ am

Correct Answer :-

. Baiga/aTﬂ

36) DIRECTIONS: Study the following information and answer the questions
given below:/ 1% : fA=feifad SiMeRY @1 3regaq o2 - 3T 78 uzHl & I« difsal

M, N, P, R, T, W, F and H are sitting around a circle at the centre, P is third to
the left of M and second to the right of T. N is second to the right of P. R is
second to the right of W who is second to the right of M. F is not an
immediate neighbour of P./ M, N, P, R, T, W, F 3i[RH ¥ FI IR Yg PuuoH g &
eI EIPMFICATRRIGIRT TSR AGIIZIN,P ST AGIIZI R,W F ST
GERTE &I M & gI¢ | geRT 71 F, P &1 Fdeaw uskil =8t g

Who is to the immediate right of P?/ P & fSidcdd ¢l 19 82
1. Data inadequate/@amﬁﬁ

2.H

3.F

4. R

Correct Answer :-
« H

37) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./fd=r: ﬁ%ﬁt{mmﬁﬁ$ﬂ? 3R ITqH
91 5 ey fau T 1 3! 3T T $Y= &) T AT & He 8 3 Fdyma a4 =
e gia gt | 9t et 3t ufew fipr au Fifve o fiw w1 frspt & @ wi9-w freed feg e
FHYl BT aDHETd B I IR BT 3, TS Fad 9 $9 o g

Statements: / ®YUY:

All bulbs are birds./ 94 9e9, T&ft 5l

Some birds are butterflies./ $3 Uefl, faaeh g1

Conclusion:/ fArep:

I. All butterflies are bulbs./ 94t faafeml, e &1

I1I. Some bulbs are butterflies./$9 d¢d, ﬁ?ﬁﬁ%l

1. If neither conclusion I nor II foIlows/?iﬂﬁ:fﬁG&TﬁI dgIII &I‘:NTUTW%



2. If only conclusion I follows/aﬁmﬁwﬂfl WW%
3. If only conclusion II follows/ Tfe Fad fAepe 11 3ER0I HRT §

4. If either conclusion I or II follows/ A a7 AR I TT 1T SIERUT HRll §

Correct Answer :-

« If neither conclusion I nor II follows/ af¢ 7 FpS I 781 11 3fI8R0I xal §

38) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁi‘-‘ﬂ: ﬁﬁqnqmﬁwmﬁr 3R 3P
91 $© fewd faw e 1 st 3T 7TE =t o) I 7 @ Ha 8 3 wdgma @l | e
wdia gid gf | It e et ot ufee fibr au wifome f fow e fset & @ wi-w1 freed few e
Yl DT THHTT B A IR BT 3, e Fayrd 9 $o o &

Statements: /D Y-:

All fruits are lions./ 94t B9, IR 51

All lions are foxes./ H‘lﬂlﬂ?, Fﬁﬁ%‘ﬁ%l

Some foxes are cats./$o aisal, fafeai §1

Conclusions:/ fAes:

I. All fruits are foxes./ﬂﬂ-ﬂm_cr, @ﬂ%ﬁ%l

I1. Some fruits are cats./$® %d, iR T

1. Either Conclusion I or II follows/m?ﬁﬁf&b‘ﬁfl qr 11 &I‘-;NTUTW%
2. Neither Conclusion I nor II foIIows/:IﬁEb_leI :I”ﬁﬁ II Gﬂﬂwm%
3. Only Conclusion II follows/&dd fshT 1T SIERUI HRT &

4. Only Conclusion I follows/mﬁ@hﬁI H@WW%

Correct Answer :-

e Only Conclusion I foIIows/ao_cIFfﬁW&cI &ENTUTW%

39) DIRECTIONS: In the question below are given few statements followed
by few conclusion. You have to take the given statements to be true even if
they seem to be at variance with the commonly known facts and then decide
which of the given conclusions logically follows from the given statements,
disregarding commonly known facts./ﬁ%ﬂT: ?ﬂ%ﬁ'QTI‘[{WﬁW$W 3R ITP
a1e 3o et fau e §1 sy AT e w5y Bt W aE | Ha g Tdga gl @ e
wdta gl g1 Tt et @) ufen fibe aa i f fag e el & @ wi-a1 e fag e
HYH BT THT S F SHRY 41 8, TS 91 a3 $ W & |



Statements:/ ®YH:

All rivers are mountain./ I afeal, ugrs €1

All forests are mountains./ 941 S7d, UgTS Tl

Conclusion: /fAeh:

I. Some rivers are forests./ $ Afedl, S B

II. No forest is a river./ I3 ST, 41 T8l gl

1. If neither conclusion I nor II follows/@qﬁﬁﬁﬁfl 7{_69[ IT &I_:NTUTW%'
2. If only conclusion I foIIows/aﬁaﬂﬂﬁWI GEEITUTWHT%

3. If only conclusion II follows/m%éﬁlﬁﬁwﬁfll \HT\EITUTW%

4. If either conclusion I or II follows/ Uﬁmﬁfﬁmﬂh qr 11 &HFR'UTW%

Correct Answer :-

« If either conclusion I or II follows/ af¢ ATl fFsHS 1 AT 11 &WW%

40) The Shakkar River is a tributary of - / Ig®R 7! ST Ter® A1 32
1. Narmada/ THgl

2. Wainganga/aﬂm'ﬂ

3. Ganga/ T

4, Tawa/ ddl

Correct Answer :-

« Narmada/ :lﬁa'[

41) Which sports is Shivendra Singh associated with?/ Rz Rigs=-aTad
. -& %:?

1. Kabaddi/ ®ag!

2. Cricket/ fopaprc

3. Badminton/ Sefiieq
4. Hockey/ gt

Correct Answer :-

« Hockey/ 8!

42) The Nirala Srijan Peeth is a part of - / fRTaT goi Wis fHaeT umT 8?2



1. Bharat Bhavan, Bhopal/ HRd HdH, Hara
2. Lok Kala Parishad/ @l &l URug

3. Kalidas Academy/ BTG BIGH!

4, Ravindra Bhavan, Bhopal/ ¥dig HdH, Hare

Correct Answer :-

« Bharat Bhavan, Bhopal/ HRd 4d+, HidTd

3.0
4.2

Correct Answer :-

-1

44 1 1 1 ‘5
) (10012 x {0.001)3 — {0.0016) 2 x 3° + (?J =7

1.1.6
2.1.0
3.0.8
4.0

Correct Answer :-

45) How many pairs of letters are there in the word '"CREDIBLE' each of which has as many letters
between them in the word as in the alphabet?/216G 'CREDIBLE' ¥ 3R} & T fbaq gy HAGECE
ot Ia 81 31&R 3MMd &, fora= 3iiei quiamen # omd 52

1. One/ Uh
2. More than three/ a9 ¥ 3ifd®

3. Nil/ PIs ol

4, Two/ al



Correct Answer :-

« More than three/ T ¥ 3ffd®

46) Point P is Sm towards the South of Point M. Point Q is 3 m towards the East of Point P. Point O
is 3 m towards the East of Point M. Point N is 2m towards the South of Point Q. A person, facing
North, takes a left turn from point M, walks 4m and stops. He then takes another left turn, walks 5 m
and stops at point R. Which of the following points, including R, fall in a straight line?/ ﬁ@" P, ﬁfg"

M % SR0T Y 3R s . B A R E lﬁgq,ﬁgpaaqéaamsﬁ.ﬁgﬁwauﬁgo,ﬁg
M & g 8 3R 3. . A gA W 2T Rivg N, g Q & SRV 3R 2 . A A WY | T R

T 7@ IER P 3R & | g M A 918 G 4 Y. Teran § 3R T T @ | a8 fpe S Ay
IR 5 WY gerar g 3R g R R & T @ | = o & 39 a1 farg R &1 affifa svd gu
e Wt yE 7 sy

1.Q, P, R
2.R, 0, Q
3.N, R, P
4.M, O, R

Correct Answer :-

47) CANCELLED

Excessive consumption of ethanol causes damage to the?/ WWE@H
YD AT DI F 3T P TG P Sl 5

1. Lungs/ W@Wv_@)
2. Kidneys/ da

3. Liver/ d&d

4. Heart/ gad

Correct Answer :-

« Liver/ d&d

48) CANCELLED
The element silicon is present in?/ ﬁﬂ%‘lﬁﬁﬁmﬁm‘eﬁ?ﬂ%
1. Sand/ 9l

2. Limestone/ gUR
3. Salt/ @dur



4, Clay/ T

Correct Answer :-

49) CANCELLED

Indore is the _ largest city in India./ s'cﬁ'\“l-ﬂﬁﬁ WEISTW%I
1. 11t /gRa

2. 9th / S

3. 10" / aHai

4, 8ty sfradi

Correct Answer :-

« oth /Ty
50) CANCELLED

During whose rule did Timur the Lame invade India?/ WW%E{%‘F—I
JIRET A YRA IR g9l fHar?

1. Ghiyasuddin Tughlaq/ TOTRIEM Tcd
2. Muhammad Shah Tughlaq/ HgH¥q 0T i<

3. Mohammad-bin Tughlag/ g"&-fe el
4. Firoz Shah Tughlaq/m\_rrﬁﬂ%'w

Correct Answer :-

« Muhammad Shah Tughlaq/ %<& RIT8 I A®

51) Enzymes are made up of?/ fd&< fas a9 gld 82
1. Carbohydrates/ FEEIZSE

2. Nucleic acids/ Jfded 3
3. Amino acids/ 3fHHI 3%l &

4, Fat / 941

Correct Answer :-

« Amino acids/ 3HIF 3 &



52) In how many years will Rs.1,800 amount to Rs.2,178 at 10% per annum

when compounded annually?/mera'q:fﬁRs.l,SOO B IR 10% WHW@W
PR F Rs.2,178 B A2

1. 2.5
2.3.5
3.2

4. 3

Correct Answer :-

53) Jayesh is facing south, he turn right and walk 20 m. Then he turn right
again and walk 10m. Then he turn left and walk 10 m and then turning right
walk 20 m. Then he turn right again and walk 60m. In which direction is he
from the starting point?/ aﬁsra'f‘&rura%ah?gﬂ@ﬁ?&gq%, Wﬁﬁﬂ@ﬂ%ﬁﬁ'\' 20 Hiex
Tardr 3| fihR a8 ST gear € ofik 10 ez aaar g1 fh 98 9T¢ gsar @ 8ik 10 e aaars
3R fiR gfT ge@v 20 Hiex gaar g1 fie 95 T gedi ¢ 8k 60 Hiex aardn 71 98 RS fag
9 fra femm & 52

1. East/ qd
2. North-East/ B?R—Uﬁ
3. South-East/ f&m-gd

4, North/ 3™

Correct Answer :-

« North-East/ W-Uj

54) Steel contains:/ $¥UTd H a1 &
1. 0.1-2% carbon/ 0.1 ¥ 2% e Pl
2. 5-10% carbon/ 5-10% T Bla

3. No carbon/ W:@Eﬁ?ﬂ

4. 20% carbon/ 20% T HIe

Correct Answer :-

« 0.1-2% carbon/ 0.1 T 2% dP HIa



A train 300 metres long is running at a speed of 25 metres per second. It

will cross a bridge of 200 metres in:/Td 300 Tﬁ?\’?lﬁw 25 WA, F1 1fa A Iaa
T4 200 ez ol qACH Y IR F- o framn awg aft?

1.5 Seconds/ 5 Y&

2. 10 Seconds/ 10 IS
3. 20 Seconds/ 20 YHs
4. 25 Seconds/ 25 968

Correct Answer :-

« 20 Seconds/ 20 &8

56) Chemically, cane sugar is?/ 33, # fia= qreil b1 H19 H 8idl 8
1. Lactose/ ddeg

2. Fructose/ ey
3. Sucrose/ ﬁ‘cﬁﬂ
4, Glucose/ W

Correct Answer :-

« Sucrose/ W

57) The ratio of two numbers is 10 : 7 and their difference is 105. The sum of
these numbers is: /3l H&AT3H} HT SJUTd 10 : 7 2 3R IPT 3aX 105 B, Y T3 BT TN
A B3|

1. 805

2.1190

3.1610

4, 595

Correct Answer :-

« 595

58) The perimeter of two squares is 40 cm and 32 cm. The perimeter of a
third square whose area is the difference of the area of the two squares is:/

S T BT TRATT 40 T TUT 32 A B 39 T P STBdl & 3R P RIER QAP aTdl TP dIa
i1 BT URHATT &

1.42 cm/42 A



2.40 cm/40 AT
3. 20 cm/20 99t

4,24 cm/24 IH

Correct Answer :-

« 24 cm/24 3=

59) If P's father Q is paternal uncle of B and A's husband M is paternal uncle
of P, then how is A related to B?/ Gf¢ P % fUd1Q, B $ AT g 3R A HTUfA M, P PI
AR A, B ¥ 5T yoR Hafta 82

1. Can't be determined/ﬂﬁﬁmww
2. Mother/lﬁ
3. Cousin/& o

4. Grandmother/cral

Correct Answer :-

. Can't be determined/3Td =gl fHaT ST Bl

60) DIRECTIONS: Choose the odd one out from the given alternatives./

frgan: fou e fawet & | fauw 3reg giAw:
1. OGRAGEPHY

2. LAMIA

3. DINHI

4. ENICSCE

Correct Answer :-

61) DIRECTIONS: Arrange the following in a logical order:/ﬁﬁ'ﬂ: ﬁﬂﬁw
3yl Hu ¥ sqafea #31

(i) Shoulder/ &1
(ii) Wrist/ &dTg
(iii) Elbow/ ®ig-1
(iv) Palm/ 83l
(v) Finger/ 3Tl



1. (iii), (i), (iv), (ii), (V)
2. (i), (iv), (v), (i), (I)
3. (v), (iv), (ii), (iii), (I)
4. (ii), (iv), (v), (iii), (I)
Correct Answer :-

° (V)l (iv)l (”)I (“I)I (I)

62) The sum of three consecutive odd natural numbers is 147, Then the

middle number is:/af¢ &=l T HURTT faww wigpa J@sil $1aRT 147 81, < i are
?T@T'S.T‘ﬁ

1. 49
2. 50
3.51

4,48

Correct Answer :-

63) While finding the average of 10 given humbers a student, by mistake
wrote 64 in place of a number 46 and got his average 50. The correct
average of the given numbers is:/ Wﬁ%ﬂ?ﬁﬁlﬁ 10 Wﬁﬁsﬁﬂﬁﬂﬁm%, ar
I F PRUT 46 F AT W 64 T a1 7, 74T 3019 50 T v 8| LY Siaa e pifor

1. 48.2
2.49.1
3.49.3

4. 48.5

Correct Answer :-

64) The first surgical transplant of the human heart was performed by?/ §ad

ST UYH YR feaes grRT fosar war ur?
1. Gerhard Hensen/ ﬁé?;%:m

2. Joseph Lister/ S ferex

3. Christian Barnard/ {80 sA7s



4, William de Vries/ faferaq Stafkg

Correct Answer :-

« Christian Barnard/ forfaa= s9ie

65) The cost price of 12 articles is equal to the selling price of 8 articles. Find
the profit/loss percent./12 T3 HT AN Jed, 8 axgaii &1 faeha Toa & RIaR B
T4/ g1 yfer=ra Jra Sifsrg)

1. 30%
2. 50%
3.40%

4, 20%

Correct Answer :-

« 50%

66) The pH of human blood is amount?/ HIHd Y& &I pH A T g1 82
1.3

2. 12

3.6

4.7.5

Correct Answer :-

67) A shopkeeper mixes two varieties of rice purchased at the rate of Rs. 35
per kg and at the rate of Rs. 28 per kg respectively. If he sells the mixture at
the rate of Rs. 36 per kg and gains 20%, then the ratio in which the two
varieties are mixed is:/ T® GHFGR &l UHR & ATa@l B HATT: 35 T./fHI1. 3R 28 &/
forur. 31 e¥ T Tdlear 3| afe 98 59 Y &1 36 =./fHUT. I=a 8,9 20% BT ATH UTE BT 8|
Rryror &7 SrguTe o 8, Rorad gt gl @) framar mr g 2

1.5:3
2.4 :7
3.2:5

4.7 1 4

Correct Answer :-



68) What would be the simple interest obtained on an amount of Rs.6,535 at
the rate of 10 % per annum after 6 years?/6 a4 9 10 % dlfY® U I &3 I
6,535 &. B R W AYRY AT fopa-m ferm?

1. Rs.3414
2. Rs.3149
3. Rs.3807

4, Rs.3921

Correct Answer :-

« Rs.3921

69) Maize grain is?/ HaP &1 SHT HT AT 82
1. Fruit/ ®d

2. Embryo/ U 3(8IU]

3. Seed/ T& &Sl

4, Ovule/ T |ISIUS

Correct Answer :-
e Fruit/ ®d

70) The HCF and LCM of two numbers are 13 and 455 respectively. If one of
the numbers is 65, then other number is:/ Efr'\‘:i'@TGﬁWﬂH.aﬁ.H. ShHRT: 13 AT

455 g1 9fS T WWAT 65 ¢, df gust TS 3
1.91

2. 104

3.78

4,117

Correct Answer :-

71) From which part of the plant is turmeric, a commonly-used colorant and
antiseptic, obtained?/ gl & Y &1 HIHT HRT JTHRI: IWH, T TSRS B a8
IuaT forar Sirer 82



1. Fruit/ Bd
2. Stem/ 4l

3. Flower/ &
4, Root/ NIg

Correct Answer :-

« Stem/ -l

72) Echoes are produced due to?/ &nﬁlﬁﬁﬁ?ﬁ%ﬁﬁ?

1. Reflection of sound/ g P WRIadT P BRI
2. Polarization of sound/ @ & W%W
3. Refraction of sound/ €& & 3Udc & HRUT
4, Diffraction of sound/ afq & fagda & HRT

Correct Answer :-

« Reflection of sound/ @\ & WRIdd & HRUT

73) Which of the following plant hormones controls fruit ripening?/ fadaa

ST UTGY STHIA Wl Bl Ub- BT a0 a1 &
1. Ethylene/ TURfeH

2. Zeatin/ forafeq

3. Auxins/ SN

4. Gibberellic acid/ feRfce 3

Correct Answer :-

« Ethylene/ TURfeH

74) Which of the following has equal periods of rotation and revolution?/ 4

# A foraeT guis a1 uRepHUT &1 THY TH JHH gidT &
1. Mercury/ g4

2. Uranus/ 930(

3. Venus/ P

4. The moon/ TgHl

Correct Answer :-



« The moon/ TgHI

75) Which of the following waves/rays are produced by nuclear changes in

the atom?/ 7 & § &1 3t forvon a1 0391 Iud gidl § &d wRAY] ® F1fe ufad< siar s
1. y-rays/ T foRor

2. Infra red rays/ 3[ad fpul

3. X-rays/ &3 fohof

4. Light waves/ JebT=I a3l

Correct Answer :-
« y-rays/ T faRof

76) Which of the following is the proper sequence of colours?/ I &1 dg! HH

aaﬁﬁ‘:

1. Red, green, yellow/ &Td, g1, Uial
2. Blue, green, yellow/ =idr, 81, il
3. Green, violet, red/ &I, a'TFﬁ, ord
4. Violet, blue, red/ ST, =ftar, @rd
Correct Answer :-

« Blue, green, yellow/ :ﬂFIT, e, BiK]]

77) Which of the following is abundantly available in the Sea and
administered in a certain deficiency disease?/ ﬁﬁﬁﬁﬁwﬁmwﬁ
SURXT i1 § YT SHD! HHI A AT H T o gl &

1. Vitamin A/ fdeTff A
2. Iron/ gl

3. Fluorine/ Eﬁﬁﬁﬂ

4, Todine/ SIS

Correct Answer :-

« Iodine/ SIS

78) What is chromosome number in a human ovum?/ A4 3{ST1Y] # frd UREA
CIDESICES



1. None of these/ G@Tﬁﬁ@[ﬁ%ﬁ

2.23
3.46

4. 48

Correct Answer :-

79) The density of sea water increases as?/ H@WWWW%W

1. Depth decreases and salinity increases/ TTgRTs gcdl & d AU dgalt &
2. Depth increases and salinity decreases/ lléiléaﬁ%a@wm@?ﬂ%
3. Depth and salinity decreases/ 7815 d AQUIdT &H Blal &

4. Depth and salinity increases/ Tg%Ts @ A9UIdT Gl dgdl &

Correct Answer :-

« Depth and salinity increases/ Tgx éaaawa’ﬁraa—cﬂ%

80) Pawan and Raman started a business by investing Rs.18000 and
Rs.25200 respectively. What is the share of Pawan in the profit of Rs.8640
earned at the end of the year?/9d- 9 IH $pHRI: Rs.18,000 d Rs.25,200 IGCEI
PP TP TIIUNI Y HXd ¢ | 79 & 3id H ATY Rs.8640 g1 Ua+ &1 a1y & fawqa fovamm

?

1. Rs.3100
2. Rs.3600
3. Rs.2700

4, Rs.3250

Correct Answer :-
« Rs.3600

81) In which part of India does saffron grows?/ HRd & HIFH YR H $IR AT
SITdT B¢

1. Jammu and Kashmir/ ST d $RAR &
2. Darjeeling district/ IfSifeRT forar
3. Nilgiri Hills/ SafR} ggrfsar

4, Madhya Pradesh/ A€ Uc®l



Correct Answer :-

« Jammu and Kashmir/ /8] d HRER &3

1. ¥ =100

| =

2. =100
3. MN = 10000

4 M+ N=100

Correct Answer :-

« MN = 10000

83) Where is the invisible number in the two positions of the same cube?/ T®

g o &1 g1 fRufoal A srewg S o5l 82

)| €2

1. Opposite of 3/3 & faudia

2. Opposite of 2/2 CACERG]
3. Opposite of 5/5 & fowdia
4. Opposite of 6/6 & fAuRId

Correct Answer :-

« Opposite of 2/2 & fawla

84) The global human population by 2100 AD is expected to rise to?/2100 T
TP afyye Aa TSI fHant g1 &1 39 8-

1. 7 billion/ 700 HRIS
2. 4 billion/ 400 TS
3.5 billion/ 500 TR/
4. 8 billion/ 800 RIS

Correct Answer :-



« 8 billion/ 800 $€-IS

85) One feels cold after a dip in sea water due to?/ Wﬁwg‘ﬁﬂwﬁ%m
SRS 38 Al § Fife?

1. Convection currents/ Tdgd Ua-i & HRU]

2. The difference in temperature between land and sea/ @HW%HWWﬁW
& BRI

3. The deposition of salt on the body/ YRR TR THS BT &Y I SIH o HRUT

4. The evaporation of water on the body/ X IR Y 5 BT A BT 81 STl %

Correct Answer :-
. The evaporation of water on the body/ YRR ¥ d &1 aries=l g1 Sl &

86) A and B can do a piece of work in 10 days, B and C can do it in 12 days. C
and A in 15 days. In how many days will c finish it alone?/A 3 B f&di s &1
10fed, BiRc2feMAdurc iR A 15 R A & 9vd §, a1 € 3bar &1 & fra
& & @aqw s

1. 30 days/ 30 faq
2. 24 days/ 24 faq
3. 60 days/ 60 faa

4. 40 days/ 40 &=

Correct Answer :-

« 40 days/ 40 faq

87) A and B together can do a piece of work in 12 days, While B alone can
finish it in 30 days. A alone can finish the work in how many days?/ A 3R B

e fodl &1 12 f3 A X TPd 21 Safe B 3al 39 HTH DI 30 a1 & g1 +°%
THdI g, a1 A 3Pl 39 PTH Bl fHaq &= & g H3T?

1. 25 days / 25 f&q
2. 15 days/ 15 &=
3. 20 days / 20 &
4, 18 days/18 fad

Correct Answer :-

« 20 days /20 f&q



88) How many squares are there in the given figure?/ &t 75 3efa # fpaq @it g2

1. 10
2.7
3.8

4,12

Correct Answer :-

89) Pencil ‘lead’ is called?/ 5 ¥ & f&a URya de ot w1 9T €2
1. Charcoal/ IR®IA

2. Graphite/ DLIE

3. Manganese dioxide/ HTHINY SRS

4. Lampblack/ GErNED

Correct Answer :-

« Graphite/ UBTse

90) Who is credited with the invention of X-Rays?/ &d-{Hull &7 NfIHRS BT
&2

1. W.L. Bragg/ dl. Tdl. ST

2. Wilhelm Rontgen/ faege Mo

3. Kamerlingh Onnes/ $HRCY 319

4. Nikola Tesla/ oI e

Correct Answer :-

« Wilhelm Rontgen/ facee@ o

91) A electric bulb has a filament made of?/ T® fqtRId 9¢a HT a=] fHa®T a1 graT

g
1. Iron/ drgT



2. Lead/ as
3. Copper/ didl

4, Tungsten/ TR

Correct Answer :-

« Tungsten/ dTRcH

92) In the given figure, O is the center of the circle and 2ACB = 30°. Find
<AOB./fRT TR R ¥, O 99 &1 H= 8 TYT LACB = 30° g, @ LAOB HT HIH JTd DY

1. 90°
2. 60°
3. 30°

4. 50°

Correct Answer :-

« 60°

93) If water in a lake were to behave like other liquids, then in extremely
cold weather it would freeze?/ afe 3itd &1 oTd gER AT 5d $t Uifd TaGR TAdT &
9 3cd $8T 814 TR d SR

1. From top to bottom/ SWI
2. From bottom to top/ d ¥ W
3. Simultaneously through the depth/ @1 &3S W U Iy

4. First on the surface, bottom and sides and then in the interior/ Ugd Idg, dd adl
PRI R dad

Correct Answer :-
« From bottom to top/ A SFTR

94) A truck covers a distance of 550 meters in 1 minute, whereas a bus
covers a distance of 33 km in 45 minute. The ratio of their speed is:/ THh ¢P 1



firTe # 550 Hiex &1 g3t a0 Har 3, Tald Tw o3 3375 31 gt 45 e A T Al 81 b
TYT S B 7T BT SUTd I |

1.3:4
2.2:1
3.2:7

4.3:5

Correct Answer :-
« 3:4

95) The numerical value of the profit % is equal to the cost price of a book,
on selling it at Rs.96. So, how much profit is there on selling it?/ S fae
®I Rs.96 H 9T T 1 Ufa=rd @Y BT 8, SUDT IBATHSD A 39 [Pard & 7Y oI P TRIER
21 39 frare &) 999 & fra Tud &1 a1y gai?

1. Rs.30
2. Rs.36
3. Rs.26

4, Rs.60

Correct Answer :-

« Rs.36

| o =3
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97) A hydrophyte is?/ T® gESIBIEC BldT &
1. An aquatic plant/ T Sdiig Oigy



2. A plant disease/ qu_c{qfﬂ'[
3. A rootless plant/ T STefdsi- dlqy
4, A marine animal/ Wﬂﬁﬂqﬁ

Correct Answer :-

« An aquatic plant/ & Sdlg Uigy

98) Find the length of the longest rod that can be placed in a hall of 10m

length, 6m breadth and 4 m height./10 e aTs, 6 HieX TISTS YT 4 ez ST
el Th SR A I ST IH aTell a9 el TS I daTs Jid B

1, V19 V1934
2. 2V38 V38 1y
3. 4V38 ygV38 3,
4.3V38 m/3V38 3¢
Correct Answer :-

o V38 3B g,

99) If '+’ stands for *x’, *x" stands for '=’, *-’ stands for '+’ and ‘= * stands for *-/, what would be
the value of the given equation./ gfe '+ T g %!, YYD 3 g - ) 3 g+ 3R '+ o1 3
? -, fou T g &1 9w e

20—-8x4+3+2=?
1.41
2.19
3.16

4. 18

Correct Answer :-

« 16

100) Z-243-2 2 5,3 7 11,1 1

, When? % = ®isdividedby® * ° I°theresultis:/9gz ¢ @ & @I
275757 5o 9 Ravfor R e 8, 9t v 2:

1.2.2

2.3.5



4.5.1

Correct Answer :-

« 51



